EARAROBREBRT —5 XN—ZXBISH—F

202452888 (A) 3E4ER3H

W C3=- USHR4mtE BN R
[xE&] 1&:560,000H  23&:224,000 W  33%&:140,000 9 . 437&:84,000 W 5 3&:56,000
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
<~ ~ SNEF 134, -2-2- . - FEXE (FH)
118111 FovYnF 4 5 g 1(3_4)9 2-2-2-1 | 39.8 1 (4_416) ﬁﬁ%ﬁz
R:VvAIVTA B:FAPUANNIYIRF BRER 455
v o=~ Ty 4 | TIRED 1:35.6 1-1-1-2 [ 40.8| — 3 a8 | RFETRE (Tl
7 2| FYIY 56.0 7 @11 | KBS
RIN—EVYIv— 8:FILF—TI VeSS E LN
== 5 | EE 1:36.3 4-4-3-3 | 41.0| - 2 479 |FFIRX (EH)
3 6| ¥IT>—h e 54.0 7 2 | @ TKK
RVILN=ZAT—bk B:o5Y7—)b V=1 ]
~, o © s~ AR : -10-8- - wERsrE (RH)
4 4| IVT—RINA Y i 6 to 1.(38.5 10-10-8-7 | 40.3 4 (4_951) um%m
R:DVI—=FFa—~ B:O9VI-TFUT wE B
o w 4% 4 | PEBETL 1:36.8 9-9-9-8 |40.6| — 9 437 | BER (FEk)
517 8| FFERT Y 54.0 a1/ (3 |HEBA
RIXAVRATFERTwY 8 F7UYZH el e
= 4 | ERARIHREE 1:36.8 7-6-5-5 | 41.4| — 5 418 | ENER (FEk)
6 7| 7TRAKS e $52.0 &) “3) ke
RY N/ TFSYVY BTy hg—H BEA15
5 = ; 4 4 | WABK= 1:36.9 6-8-3-4 |41.4| — n 424 | LLTIHE (FEkR)
718l10| 5 FTS5—D 755.0 o8 (ay | YRR
RiXTT4 B:FUINYTRI— e ES SRR
- REBRE : -5-7- - 5 (Faks)
8l7l9 XL 39T HAHY % 6 ] 1.(347).5 5-5-7-8 | 42.0 7 (4_72(; i
RiXAYIDVR—5— B:XAY39LTES i —=
03V = s 4 | BEHHRK 1:37.8 8-7-10-10 | 42.0| - 10 | 442 | AWEX (i)
9|1[1]|INY¥T %0 (11/2) 1 | BOA
RIIET7RAT B:T7AVRIX—T SRR
= I 8 5 | ZEEX 1:38.2 3366 | 43.1| — 6 452 | WLOEE (TR
10/5|5|TATALI—F 54.0 @172 o |HHER
RIZAEIWN=T B:PATLST4VT HBEIT7—L4A
=y~ ,— EmiE— : -11-11- - KEER (TR
1 3 HFTSXYTF 4 5 5 1.(338).7 11-11-11-11| 42.3 8 (4_02(; 7:%2.5;%?
RiROSXYF B:IW—TSRFrv5T— FUFYT7—LI
@ 1—F—&RIEL
13—7— 2,11,5,6,9,10,7,1,8,4,3
20— — 2,11,5,6,9,7,1,10,8,4,3
33— — 2,11,(6,10),7,5,9,4,8,1,3
AT=5r= 11,2,6,10,7,5,4,(8,9),1,3
0 ILRE
BB 1 210M JA R 2-11 2004 % 3E 2-8 540M4 3EE 2-6-11 420/
B B 1 1009 6-11 1509 5 E 2-11 450 3EH 11-2-6 1,730
2 110 2-6 1904 Ba 1-2 710M
6 100

ABIC OV TRUTEREERRODDZE. THRIIZEL.




